5 x tables

1) Fill in the gaps below:

10| 15 25

2) Fill in the gaps below:

5 x = 40 45 =+ =5
b x = 60 20 = H =
b x = 25 35 + =5

3) Asda have an offer on sausages. Henry buys 5 packs costing
£3 each. Draw a representation of this below before writing
out the calculation and finding the answer.

4) Create a word problem that requires you to use the 5 x
table.



5 x tables

5) Write the number sentences for the diagram below:

6) David says "I know 4563 + 5 will have a remainder without
solving the calculation.”
Is he correct? Explain your reasoning.

7) Fill in the gaps below:

40

Ol

O
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8) There is a 5 a side competition being held in London. 8
teams enter. How many players are there altogether?

9) Find all the number facts you can for the triangle below:

10) Sarah says "I know my 5 times table so I can work out 5
x 70 without using a written method.”

Explain why Sarah can do this.



